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Division with remainders - sharing

Present pupils with a problem.
For example:

If I share 13 oranges between 2 bags, how many will be in each bag?

13 is not an even number so
the oranges won't divide
equally between 2 bags.

1 think there might be 1 left over

‘ because 13 is 1 more than 12
‘ and 12 is divisible by 2.
’ Model solving this problem using a sharing method with

both fruit and bags or a suitable manipulative.
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Record the written calculation alongside the model, making it explicit where the numbers are coming
from. Draw pupils' attention to the orange that is left over. This is called the ‘remainder.

13 2 = 6 r

number of oranges divided by number of bags to equals  number of oranges  oranges that
to be shared share between in each bag are left over

(remainder)
Why do we have a ‘remainder’?

There are not enough oranges left to carry on
sharing fairly between the 2 bags so 1 is left over.
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Model how to represent this using manipulatives for further divisions with remainders. Use
handout_2L.S27_step2_speaking_frame to model how the language fits with the representation.

Pupils will use a sharing strategy to solve division calculations. They could record their sharing of
manipulatives using jottings or pictures.
For example, using handout_2L.S27_step2_division_by_sharing. N

2%




image4.png
Division by Sharing Speaking Frame

If you share O into O groups, there are O in
each group and O left over.

O divided by O is O remainder O.

O+-0O0=0r0
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Number to begin with Shared between... Remainder? Calculation and Solution
(quotient)
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Sort the divisions into those that
would share equally and those
that would have a remainder.

20+5
18+5
9+2
18+2

Prove it.




